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Multiply
Q1. (5x+3) by (7x +2)

SOLUTION:

To multiply, we will use distributive law as follows:
5x+3)(7x+2)
=5x(7x+2)+3(7x+2)
=(5x xTX+5x x2)+(3xT7x+3 x2)
=(35x2 + 10x) + (21x + 6)
=35> +10x+2Ix+6

=35x2+31x+6
Thus, the answer is 35%% +31x + 6

Q2. 2x +8) by (x—3)

SOLUTION:

To multiply, we will use distributive law as follows:
(2x +8) (x—3)
=2x(x-3)+8(x-3)
=(2x x X=2x x 3) +(8x—8 x 3)
= (2x°—6x) + (8x—24)
= 2x%2-6x + 8x—24

=2x2 +2x—24
Thus, the answer is 2X> + 2x—24.

Q3. (7x +y) by (x + Sy)

SOLUTION:

To multiply, we will use distributive law as follows:
(7x+y)(x+35y)
=7x(x +5y) +y (x +5y)
= 7x% +35xy +xy + 5y

= 7x% +36xy + 5y?
Thus, the answer is 7x> + 36xy + 5y2.

Q4. (a—1) by (0.1a2 + 3)

SOLUTION:

To multiply, we will use distributive law as follows:
(a—1)(0.1a> +3)
=0.1a2(a—1)+3(a-1)

=0.1a3-0.1a> + 3a-3
Thus, the answer is 0.1a—0.1a + 3a—3.

Q5. (3x% +y?) (2x* +3y?)



SOLUTION:

To multiply, we will use distributive law as follows:
(3x2+y2)(2x2 +3y2)
=3x2 (2x% +3y?) +y2 (2x% + 3y?)
=6x* + 9xzy2 + 2x2y2 + 3y4

= 6x* + 11x%y2 + 3y*
Thus, the answer is 6x* + 11x%y? + 3y*.

Q6. (3x+ 3y) by (3x+4y)

SOLUTION:

To multiply, we will use distributive law as follows:

(3x+2y)(3x +4y)

= %x(%x +4y)+ %y(%x-i— 4y)

_ 12, 12 5 2
=X+ Xy + Xy +2y

— 12 144+25 2
>X* + (—5— )Xy +2y

— 1.2 169 2
= X"+ () Xy +2y

169

P ) 2
Thus, the answer is X~ + (5= ) Xy +2y~.

Q7. (x0-y®) (x2 +y?)

SOLUTION:

To multiply, we will use distributive law as follows:
(X=y*) (X +y?)
=x0 (< +y?) -yt (¥ +y?)
= (¢ Xy - (O )

= x84 xOy2yOx2_y8
Thus, the answer is X + X6y 2—y6X2—y8,

Q8. (x> +y?) (3a+2b)

SOLUTION:

To multiply, we will use distributive law as follows:
(x* +y?)(3a+2b)
=x?(3a+2b)+y?(3a+2b)

= 3ax? + 2bx? + 3ay? + 2by?
Thus, the answer is 3ax> + 2bx? + 3ay? + 2by?2.

Q9. [=3d + (= 70)] (5d + )



SOLUTION:

To multiply, we will use distributive law as follows:
[-3d + (=7f)] (5d + 1)
=(=3d)(5d+ )+ (=70 (5d +1)
= (—15d2-3df) + (-35df-7f?)
=—15d%-3df-35df-7f*

= 15d%-38df- 712
Thus, the answer is — 1 5d?—38df—7f2.

Q10. (0.82—0.5b) (1.5a—3b)

SOLUTION:
To multiply, we will use distributive law as follows:

(0.8a—0.5b) (1.5a—3b)
— 0.8a(1.5a—3b)—0.5b (1.5a—3b)
= 1.2a2—2.4ab—0.75ab + 1.5b?

= 1.2a>-3.15ab + 1.5b2
Thus, the answer is 1.2a?—3.15ab + 1.5b2.

Q11 (2x%y?=5xy?) (x*~y?)

SOLUTION:
To multiply, we will use distributive law as follows:
(2x%y?=5xy?) (x*-y?)
= 2¢%y? (X*=y?) = 5xy? (x*-y?)
= 2x*y2-2x2y4— 5x3y 2 + Sxy*
Thus, the answer is 2x*y?—2x%y4—5x3y? + 5xy*.

Q2 (2 +5)(2+3)

SOLUTION:

To multiply, we will use distributive law as follows:
XN\ 2 4 %
G+ GE+7)
Sx(24 %) X2, 5
7(5+ 4)+ 2(5+ 4

S L S
5038 5 s

N +(45+28)X2+9Tx3

35 140
_ 2 73 2, 93
I3 + mX + -
.2x 73 2, 9
=2 4+ —xe+ =
Thus, the answer is 55 : 40X 5

2 2
Q13 (-4 + )5



SOLUTION:

To multiply, we will use distributive law as follows:

(-2 + 2y

7 9 2 3
_ b b2 2 b b2
= CHE-D e
_ ab ab’ a’b  a’b?
SRttt T

_w g
5 5 21? 21 18 27
ab 4 ab” , a’b  ab

Thus, the answer is — 7 1 3 >

Q14. (3x%y—5xy?) (%x2 + %yz)

SOLUTION:
To multiply, we will use distributive law as follows:
1 1
(Bx’y=5xy*) (3% + 7¥7)

1x? (3x%y=5xy?) + 2y? (3x%y=5xy?)

_ 3.4 35,2 2.3 5 4
= xly=x’y? +x%y’- 3xy

3_5yué

Thus, the answer is %X“y—)@y2 +x2y3— 2xy*.
S

Q15. (2x2—1) (4x3 + 5x2)

SOLUTION:
To multiply, we will use distributive law as follows:
(2x%—1) (4x3 + 5x%)
= 2x2 (43 + 5%x2)— 1 (43 + 5%2)

= 8x5 + 10x*—4x3—5x2
Thus, the answer is 8x> + 10x*—4x3—5x2.

Q16. (2xy +3y%) (3y>-2)

SOLUTION:

To multiply, we will use distributive law as follows:
(2xy +3y*) (3y*-2)
=2xy (3y>=2) + 3y? 3y*-2)
= 6xy>—4xy + 9y*—6y?

= 9y* + 6xy’— 6y 2—dxy
Thus, the answer is 9y4 + 6xy3— 6y2— 4xy.

Find the following products and verify the result for x =-1 and y =-2:

Q17. 3x—5y) (x +y)

SOLUTION:



To multiply, we will use distributive law as follows:
(3x=5y) (x+y)
=3x(x+y)-Sy(x+y)
= 3x% + 3xy—5xy—5y?
= 3x2-2xy-5y?
= (3x=5y) (X Ty) = 3x>—2xy—5y>

Now, we put x =-1 and y = -2 on both sides to verify the result.

LHS =
(3x=5y)(x +y)
=BED-5E2)) -1+ (-2)3
=(=3+10)(-3)
=-21

3x2—2xy—5y?
=3(-1"-2(-D)(-2)-5(-2°

Because LHS is equal to RHS, the result is verified.

Q18. (x2y—1) (3—2x2%y)

SOLUTION:
To multiply, we will use distributive law as follows:
(Py—1) (3-2x%y)
=x%y (3-2x%y)— 1 (3-2x%y)
= 3x’y-2x*y2-3 + 2%y
= 5x2y-2x*y2-3
o (x2y—1) (3-2x%y) = 5x%y—2x*y2-3

Now, we put x =-1 and y =-2 on both sides to verify the result.

LHS =
(x%y—1)(3-2x%)
= [(=1)* (=2)=1][3-2(-1)* (-2)]
=[1x (=2)=1][3-2 % 1 x(-2)]
=(-2-1)(3+4)
=-3x7
=-21

RHS =

Sxy—2xty?-3

= 5(-1)° (-2)-2(-1)*(-2)"~3
=[5x1x(=2)]-[2x1x4]-3
=—10-8-3

=-21

Because LHS is equal to RHS, the result is verified.

1. Y, 1 y?
QY. (3x- %) (3x + %)

SOLUTION:

To multiply, we will use distributive law as follows:



1. Y ,1 y?
(3x=F)(3x+3)

~ [x(dx+ D)l [ (dx + L))

1.2, X2 xy? |yt
[+ 5 1-[55 + 51

X 2 X 2 4

_lo,w woy

9 15 15 25
_1p2 ¥
9 25

2 2 4
.1 y 1 Y N= 1,2 ¥
(=X =) (=X =) = =x—=—
(3X 5 )(3X 5 ) 9X 25
Now, we put x =-1 and y = -2 on both sides to verify the result.

LHS =
1, Y1 y:
(? - ?)(?X t3)

-rhen+

=y
)3
=119
225

12 v

X3

-y 2
5 S

16

s

16

25

—_ 119

225

-1,
9
1
9

Because LHS is equal to RHS, the result is verified.

Simplify:

Q20. X2 (x +2y) (x=3y)

SOLUTION:
To simplify, we will use distributive law as follows:
X2 (x +2y) (x=3y)
= [x* (x +2y)] (x-3y)
= (X +2x%) (x-3y)
=X (x=3y) +2x% (x-3y)
=x*3x3 + 2x° - 6x2y?

= x*xP—6x2y?

Thus, the answer is X*—x3— 6X2y2 .

Q21. (x>— 2y2) (x +4y) xzy2

SOLUTION:

To simplify, we will use distributive law as follows:



(=2y%) (x +4y)x?y?
= X (x +4y) =2y (x +4y)]x%y?
= (3 + 4x%y—2xy?-8y?) x%y?

= x5y2 + axty I 2yt gxlyS
Thus, the answer is Xy~ + 4x*y>— 2x3y4— 8x%y>.

Q22.2°b% (a+2b)(3a+b)

SOLUTION:

To simplify, we will use distributive law as follows:
a2b?(a+2b)(3a+b)
= [a’b? (a+2b)] (3a+b)
= (a’b? +2a%b%) (3a +b)
=3a(a’b? +2a%b%) + b (a’b? + 2a°b?)
= 3a*h? + 6a’b® +a’b® +2a%b*

= 3a*b? + 7a’b? + 2a2b*
Thus, the answer is 3a*b? + 7a3b® + 2a2b*.

Q23.x% (x—y) y* (x +2y)

SOLUTION:
To simplify, we will use distributive law as follows:
X2 (x=y)y* (x +2y)
= [ (=] [y? (x +2y)]
= (*=x%y) (xy? +2y%)
=X (xy? +2y7) =y (xy? +2y7)
= x4y2 + 2x3y3— [Py ? + 2x2y 4]
= xy? + 23y Py oxy
= xty? + 3y 2y
Thus, the answer is
Xy2 + 23y oy axy
= xty? + 33y 22y

Q24. (x°=2x% + 5x—7) (2x—3)

SOLUTION:
To simplify, we will use distributive law as follows:
(x3=2x2 +5x=7)(2x=3)
= 2X (X°=2x% + 5x=7) =3 (x*=2x> + 5x—7)
= 2x* 4 + 10x%— 14x-3x% + 6x°— 15x + 21
= 2x*—4x3-3x3 + 10x2 + 6x>— 14x—15x + 21

=247 + 16x%—29x + 21
Thus, the answer is 2x*—7x° + 16x2—29x + 21.

Q25. 2x*—7x3 + 16x>—29x +21



SOLUTION:

To simplify, we will use distributive law as follows:
(5x+3)(x—1)(3x-2)
=[(5x+3)(x—=1)] (3x=2)
=[5x(x=1)+3(x=1)](3x=2)
= [5x%—5x + 3x=3] (3x=2)
=3x (5x2 +2x-3) -2 (5x2 +2x-3)
= 15x°— 6x2— 9x—[10x>—4x— 6]
= 15x°-6x°—9x— 10x> + 4x + 6
= 15x3-16x2-5x + 6

Thus, the answer is
15x°—6x2—9x—10x% +4x + 6

= 15x°-16x>-5x + 6

Q26. (5-X) (6-5x) (2—x)

SOLUTION:
To simplify, we will use distributive law as follows:
(5—x) (6-5x%) (2—x)
= [(5-x) (6-5%)] (2-x)
=[5 (6-5x)—x (6—5x)] (2—x)
= (30—25x—6x + 5x%) (2—x)
= (30-31x + 5x%) (2—-x)
=2(30-31x+5x2)—x (30-31x + 5x2)

= 60— 62x + 10x?>—30x + 31x°—5x°

= 60—92x + 41x>—5%°
Thus, the answer is 60— 92X + 41x?— 5x>.

Q27. (2x% +3x=5)(3x>-5x + 4)

SOLUTION:

To simplify, we will use distributive law as follows:
(2x% +3x=5) (3x>-5x +4)
=2x2 (3x°—5x +4) + 3x (3x*—5x +4) -5 (3x?>—5x + 4)
= 6x*— 10x> + 8x% + 9x*— 15x% + 12x— 15x% +25x—20
= 6x4—10x3 +9x3 + 8x?— 15x>— 15x% + 25x + 12x-20

= 6x*—x*—22x% + 36x-20
Thus, the answer is 6x*—x>—22x% + 36x—20.

Q28. (3%=2) (2x=3) + (5x=3) (x + 1)

SOLUTION:

To simplify, we will use distributive law as follows:



(3x=2)(2x=3) +(5x=3) (x + 1)

=[(3x=2) (2x=3)] + [(5x=3) (x + 1)]
=[Bx(2x=3)-2(2x=3)] +[5x (x + 1) =3 (x+ 1)]
= 6x°—9x—4x + 6 + 5x> + 5x—3x—3

= 6x2 + 5x>— 9x—4X + 5x-3x-3 + 6

=11x>-11x+3
Thus, the answer is 11x2— 11x + 3.

Q29. (5x=3) (x +2)— (2x + 5) (4x=3)

SOLUTION:

To simplify, we will use distributive law as follows:
(5x=3)(x+2)—(2x + 35) (4x—3)
=[(5x=3) (x +2)]-[(2x +5) (4x—3)]
=[5x(x+2)-3(x +2)]—[2x (4x—3) + 5 (4x—3)]
= 5x% + 10x—3x—6 + 8x* + 6x—20x + 15
= 5x2—-8x2 + 10x—3x + 6x — 20x—6 + 15

=-3x>-7x+9
Thus, the answer is —3x>—7X + 9.

Q30. (3x + 2y) (4x + 3y) —(2x—y) (7x=3y)

SOLUTION:
To simplify, we will use distributive law as follows:
(3x +2y) (4x + 3y)— (2x—y) (7x=3y)
= [(3x +2y) (4x + 3y)] - [(2x—y) (7x=3y)]
= [3x(4x + 3y) + 2y (4x + 3y) |- [2x (7x—3y) -y (7x—3y)]
= 12x2 + 9xy + 8xy + 6y2— 14x2 + 6xy + 7xy—3y?
= 12x2—14x2 + 9xy + 8xy + 6xy + 7xy + 6y2—3y?

=2x> +30xy + 3y?
Thus, the answer is —2x> + 30xy + 3y?.

Q31. (x*—3x +2) (5x—2)—(3x? + 4x—5) (2x—1)

SOLUTION:
To simplify, we will use distributive law as follows:
(x>=3x+2) (5x=2)—(3x> + 4x—5) (2x—1)
= [(x*=3x +2) (5x=2)] - [(3x? + 4x—35) (2x—1)]
= [5x (x2=3x +2) =2 (x2=3x + 2)]| = [2x (3x% + 4x—3)— 1 (3x2 + 4x—3)]
= [5x°=15x% + 10x—2x% + 6x—4]—[6x> + 8x’— 10x—3x’—4x + 5]
= 5x°— 15x% + 10x—2x% + 6x—4— 6x°— 8x> + 10x + 3x* + 4x—5

=x3-22x%+30x-9
Thus, the answer is —X°—22x2 + 30x—9.

Q32. (x>=2x2 +3x—4) (x— 1) = (2x=3) (x2=x + 1)



SOLUTION:
To simplify, we will use distributive law as follows:
(3=2x2 +3x—4) (x= )= (2x=3) (x*=x + 1)
= [(x*=2x% +3x—4) (x= D] - [(2x=3) (x*—x + 1)]
= [x (x3=2x% + 3x—4)— 1 (*=2x% + 3x—=4)]-[2x (x*—x + 1) =3 (x*—x + 1)]
= x4 253 + 3x%—4x— X + 2x%-3x + 4257 + 2x%-2x + 3xP-3x + 3
= x4 233233 +3x2 4+ 2x% 4 22 + 3P 4x—3x—2x—3x + 4 +3

=xt-53 + 10— 12x+ 7
Thus, the answer is X*— 5x> + 10x>— 12x + 7.



